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1| EEF9E (PR aT <104 70 | <1.04| 70 |<1.04| 80 |<i04| 80 |<i04| 80 |<104]| 80 |<1.04| 80 |<092| 80
2| AR EIRARRT 104 70 |<1.04| 70 [<104| 70 | <104 | 80 |<104| 80 |<1.04| 80 |<i04| 80 |<092| 80
3|HBHAREILETY7 <104 | 70 |<104| 70 |<1.04| 80 [<104| 80 |<104| 80 |<i04]| 80 | <1o4]| 70 |<092| 80
4|EEMAGLETYT <104 80 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<1.04]| 80 |<1.04| 80 |[<i04| 80 |<092| 70
5|%H[  1TU7 <104 | 80 |<104]| 70 | <104 70 |<104| 70 |<104| 80 |<i04| 70 |<i04| 80 |<092| 70
6| ¥t 2— (A KEFTEETIY7 <104 70 |<1.04] 70 |<1.04| 70 |<104| 70 |<104| 80 |<1.04| 80 |<i.04| 80 |<092| 80
7|HK B E R B <1.04| 80 |<104] 70 |<1.04| 70 |<1.04| 70 |<1.04| 70 |<1.04| 80 |<104| 80 |<092| 70
8| BRI RIRERTYT <1.04] 70 |<1.04| 80 |<i04| 80 |<104| 70 |<104| 70 |<104| 70 |<i04| 70 |<092| 80
9|FF EEARRRARTAT <104] 70 |<1.04| 70 |<1.04| 80 [<1.04| 70 |<1.04| 80 |<i04| 70 |<i04| 80 |<092| 80
10(78PY FHEARIRRERTAT <104 70 |<1.04| 70 |<1.04| 70 | <1.04| 80 |<1.04| 80 |<1.04| 80 |<104| 70 |<092| 70
11 |$EErTE <104 70 |<1.04]| 80 | <104 70 |<104| 70 |<104| 70 |<1.04| 70 |<104| 70 |<092| 70
12|JAEAS T R 5 — 18 1R i R <1.04| 70 | <1.04| 80 |<1.04| 70 |<104| 70 |<104]| 70 |<1.04| 70 |<1.04| 80 |<092| 70
13|JAEASHT R SE— 1R B AERR <104 70 | <104 [ 80 [<104| 80 |<1.04]| 70 |<104| 70 |<104| 70 |<104| 80 |<092| 80
14|79 B&t2— KRR <1.04| 70 |<1.04| 80 |<1.04| 80 |<i.04| 80 |<1.04| 70 |<1.04| 80 |<i04| 80 |<092| 80
15|53 LVEERELYT <1.04| 80 |<1.04| 70 [<1.04| 70 |<104| 70 |<104| 80 |<1.04| 80 |<i04| 80 |<092| 80
16| RFERFBLY7 <104 80 |<1.04| 70 |<1.04| 70 |<104| 70 |<1.04| 70 |<i04| 70 |<i04| 70 |<092| 70
17| RRAFTAD L R RERHEDEHE AER <104 | 80 |<1.04( 80 |<104( 70 [<104| 70 |<i.04| 80 |<104| 80 |<1.04| 70 |<092| 70
18| AL R R EEMRED AR S <1.04| 70 | <1.04| 80 |<i04| 80 [<i04| 80 |<104]| 80 |<104| 80 |<i04| 70 ]|<092| 80
19| RREEHEAD <1.04| 80 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<104| 70 |<104| 80 |<i.04| 80 |<092| 80
20| RBREEHREAEAD <1.04| 70 |<1.04| 80 |<104| 80 |<1.04| 70 |<104| 70 |<104| 70 |<i.04| 80 |<092| 70
21 (RREZEABERTUT <104 ] 80 |<1.04| 80 |<104| 70 |<1.04| 70 |<1.04| 80 |<104| 70 |<1.04| 80 |<092| 70
2| RBREEHADM *1 <104 70 |<1.04| 70 |<1.04| 70 |<1.04| 80 |<1.04| 80 |<1.04| 80 |<i04| 70 |<092| 70
231 ~4 S BB A ERRETG Y — <104 70 |<1.04] 70 |<1.04| 70 [<104| 70 |<i04| 70 |<1.04| 80 |<i04| 80 |<092| 70
24| iR ERmYT—b <104 80 |<1.04]| 80 |<1.04| 80 |<104| 70 |<1.04| 80 |<1.04| 80 |<i04| 70 |<092| 80
25(1~4SHPPARKEYERS —b <104 80 |<1.04| 80 |<i04| 80 |<1.04| 80 |<i04| 80 |<1.04| 80 |<i04| 70 |<092| 80
26| AERETS—h <1.04| 70 |<104| 70 |<1.04| 80 |<104| 80 |<104| 70 |<104| 70 |<i04| 80 |<092| 70
27|11/ 25 B EmRS —h <104 80 |<i04]| 70 | <104 70 | <104 70 |<104| 70 |<i04| 80 |<i04| 80 |<092| 80
28|55 #4—E REMESIR <1.04| 70 [<1.04| 70 |<104| 80 |<1.04| 80 |<i04| 80 |<104| 70 |<i04]| 80 |<092| 80
29|5/65 9 —EREBA DR <1.04| 70 |<1.04]| 80 |<1.04| 80 |<i04| 80 |<1.04| 80 |<1.04| 80 |<i.04| 80 |<092| 80
30(65#a—E B AR A O RER <104 70 |<1.04| 80 |<104| 80 |<i04| 70 |<1.04| 80 |<i04| 80 |<1.04| 80 |<092| 80
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31|62 4T /BilkEEH <1.04| 80 [<1.04| 80 |<104| 70 [<104| 80 [<1.04]| 80 |<1.04]| 80 |<104| 80 |<092| 80

2(dt@EADERS—H <104 80 |<1.04| 80 |<104| 70 |<104| 70 |<104| 70 |<104| 70 |<104| 70 |<092| 70

33| M EA RS R R <1.04| 80 |<1.04| 80 |[<104]| 70 |<1.04| 70 |<i04] 70 |<1.04| 70 |<104| 70 |<092| 70

34| LA IBHTEARAT <104 80 |<104| 70 |<1.04| 70 |<104| 80 |<104| 80 |<104| 80 |<104| 80 |<092| 70

35 JBERNE B R R I R SR R B AT <104 70 |<1.04| 80 |<1.04| 80 |<1.04]| 80 |<104| 70 |<1.04| 70 |<1.04| 80 |<092| 70

36[F—TFuE Nol (REAEASEAD) <104| 70 |<104| 70 |<104| 70 |<104| 70 |<092| 70

37| U= TFuk No2(HRAEASE) / / [[<ioa] 80 [<1oa] 70 <104 80 [<ros] 80 [<os2] a0

38— FuF No3(REAREIRMEH) / / / <104| 80 |<i04| 80 |<104| 80 |<104]| 80 |<092| 80

39— T yF Nod(REARSIRLT) / / / <104 | 80 |<t04| 70 |<104| 70 |<104]| 70 |<092| 70

40[7—>F ¥ NoS(IREAREIRILE) / / / <104 | 70 |<t04| 70 |<104| 70 |<104| 70 |<092| 70

H[TU—>TF % Nob(REAREIRHRE) / / / <104 | 80 |<104| 80 [<104| 70 |<104| 70 |<092]| 80

2|7)—TuF No 7 (REAFETY) <104 70 |<t04| 70 |<104| 70 |<104| 70 |<092]| 80

43|T—>Tyk No8(REAKRE) <104 | 70 |<104| 80 |<i04| 80 |<104| 80 |<092| 70

44|TU—TyF No9 (REEAEKRE) / / / <104 [ 80 |<i04| 80 |<io4| 80 |<i04| 80 |<092| 80

45|7—>TyF Nol0O(REAFTY) / / / <104 | 70 f<104| 70 |<104| 70 |<104]| 70 |<092| 80

46| T—FuF Nod | (54 ERE) / S / <104 | 70 |<1o4| 8o [<io4]| 8o |<ioa| 70 | <002 70

47|7—> T % Nol2(RRAKE) / / / <104 80 |<to4| 80 |<i04| 80 |<104]| 70 |<092| 70

48|7—2TvF Nol3(IRBAEFTY) / / / <104 70 |<1.04| 70 |<1.04| 70 |<1.04| 70 |<092| 70

49|JU—2TuF Nold(HREFTY) / / / <104 70 |<104| 70 |<i04| 70 |<104| 70 |<092| 70

50(41—>FwF No.l5(REAKHE) <104 70 |<104| 70 |<104| 80 |<104| 80 |<092| 80
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52|7I—TFvF No. 2(5L—Fo¥) <104 80 |<104| 80 |<104]| 70 |<104| 80 |<i04| 80 |<1.04| 80 |<i04| 70 |<092| 80

53|7IL—TY¥ No. 3(FFY) <104 80 | <104| 70 |<104]| 70 |<104| 70 | <104 70 |<104]| 70 |<104| 80 |<092| 80

54| TIL—Tv¥ No. 4(FFY) <104 | 80 [<roa]| 70 |<ioa| 70 |<ioa| 70 [<ioa| so |<i0a]| 70 [<roa]| 70 [<o02| 70

55| —F % No. 5(FFY) <104 80 |<1.04| 80 |[<104]| 70 |<104]| 70 |<104| 70 |<1.04| 70 |<1.04| 80 |<092| 80

56[FI—FY¥ No. 6(FFY) <104 70 | <104 70 |<104| 70 |<i04| 70 |<104| 70 |<104| 70 |<104]| 70 |<092| 70

57[TIL—Fv% No. 7(FFY) <1.04| 70 |<1.04| 70 |<104]| 70 [<i04| 70 |<1.04]| 70 |<1.04]| 80 |<104]| 70 |<092| 80

58|FIL—TwF No. 8(FFY) <1.04| 80 |<1.04| 80 |<104| 70 |<i04| 70 |<1.04]| 70 |<1.04| 80 |<104| 80 |<092| 80

59|FIL—F ¥ No. 9(FL—Fv ) <104 70 |<i04| 80 |<104| 70 |<104]| 80 |<i04]| 80 |<104]| 70 |<104| 80 |<092| 70

60| 7IL—F ¥ No. 10(FL—F 1) <104 70 |<104| 70 |<i04| 70 |<104| 80 |<104]| 70 |<i04| 80 |<1.04| 80 |<092| 70

61|FIL—F ¥ No. 11(FFV) <104 | 80 |<to4| 70 |<104]| 80 |<104| 70 |<104]| 70 |<104| 70 |<104| 80 |<092| 80

62|7I—FY¥ No. 12(FFY) <1o4| 80 |<io4| 8o |<io4| 70 |<t04| 80 |<104]| 80 |<104| 70 |<i04| 80 | <092 80
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